· Job 1416, 1421 are all low maturity and medium complexity now. In  

the previous analysis they were medium, high. 

RESPONSE:  UPON DISCUSSION WITH MIKE COLE, IT WAS AGREED THAT THESE TWO JOBS WARRANT THE CURRENT RATINGS OF LOW MATURITY (=> HIGH RISK) AND MEDIUM COMPLEXITY.  THE ISSUES ARE THE RESOLUTION OF INTERFACES. (COLE) 

· Job 1451 maturity was low, now it is high.
RESPONSE: ERROR ON INITIAL ASSESSMENT - LOW MATURITY MEANS HIGH RISK. WE HAVE NOW DONE 12 COILS AND KNOW THE PROCESSES PRETTY WELL. CORRECT ASSESSMENT IS HIGH MATURITY. (CHRZANOWSKI)

· Job 1802 oversight and supervision, complexity is medium, used to be low. This is a $2M task.

RESPONSE: THIS IS BASICALLY A LOE TASK - CLOSELY LINKED TO JOB 1810N AND 1815.  JOB MANAGER REASSESSED CONTINGENCY.  BASED ON COMBINATION OF JOBS 1810 AND 1815. (VIOLA)

· Job 1803/05 final machine assembly is low maturity, medium complexity. This was medium, low.

RESPONSE: LOW MATURITY IS HIGH RISK AND THAT IS APROPRIATE.  R7 TO SEQUENCE ASSEMBLY PLAN SPECIFIES TASKS IN GREAT DETAIL WHICH WARRANTS REDUCTION IN COMPLEXITY TO LOW.(BROWN)

· Job 1810 General FP Assembly support is high maturity, medium complexity. Previously this was low, high. This has a lot of money behind it.

RESPOINSE:  MISUNDERSTANDING HERE. STATION 1 IS HIGH MATURITY (LOW RISK), BUT STATIONS 2 AND 3 ARE LOW MATURITY (HIGH RISK).  WHILE THIS IS A COMPLICATED PROCESS,THE INDIVIDUAL TASKS, TAKEN ON WHOLE, ARE ONLY MEDIUM COMPLEXITY. (VIOLA)

· Job 1815 Maturity is now low, was previously high?

RESPONSE: STATION 5 WAS ORIGINALLY JUST WELDING ON PORTS AND ROLLING ON TF COILS. NOW THE LATEST TOM BROWN SEQUENCE PLAN ADDS SEVERAL CONCEPTUAL ANCILLARY ITEMS AS WELL AS PRE-ALIGNMENT OF THE TF COILS WHICH HAS A SUPPORT STRUCTURE CURRENTLY IN DESIGN AND INVOLVES HUNDREDS OF FASTENERS PER COIL. (VIOLA)

· Job 7501 has low maturity, medium complexity. It was previously medium, low.

RESPONSE: REASSESSMENT BY THE JOB MANAGER. LOW MATURITY SINCE WE YET TO HAVE DETAILED DRAWINGS.  THIS IS KEYED OFF JOB 7503. (PERRY)

· Job 7503 is a single $4.6M task. This seems out of proportion with the other items. It seems to me that this skews the contingency analysis to have a single job that is so big, since the cost estimate uncertainties get added in a Monte-Carlo fashion. Can this be analyzed a lower level like the other tasks?

RESPONSE:  ONLY STATION 6 HERE - VERY DIFFICULT TO BREAK OUT IN FINER DETAIL - BUT WILL EXPLORE THIS.  UNLIKE 1810 WHICH COVERED STATIONS 1,2, & 3.  J0B 1815 SIMILARLY COVERS ONLY ONE STATION. (PERRY AND STRYKOWSKY)

